25 BEA—E

=15 HREZ JEES
1515 +—JL(6F) 200
22 5 1 =&E(6F) 90
%3515 5 3HEE + 5 6 2= (3F) 69
%4215 £ 1+ 2 HEZ(5F) 42
%3 Ffw (OLER) % 3 =iEE(3F) 24
%4 ¥ (OLER) % 2 =% = (5F) 20
ZE=1 5 4 =&ZE(3F) 18
ZER?2 % b =& = (3F) 24
=155 %1 +%2F=E(GF)
PR R~— LRI T A T(6F)




LA

=1

.-
U 8 .
] o i ,_"
h m -.."'\.I
m Fa
= 5 I . B

ERER

= J
]

liﬁ}_ﬁl]-_ e _.-:="""-§;EI|J H .»Ilii




BARIG TR
OL(20f%)




EIRGFE
I OL(24f%)

ZE=1(18fF)

- ZEREE2(245%)

J M) L
BRSBTS £
HWAREE SRR ET S
AR SRERIBES
B\|Egey— - SRFERSER
Ly

i
i E

ir-




